Veiksmai karpymui:
250x3=				430x4=
375x2=				860x2=

320x4=				358x5=	
640x2=				895x2=

150x3=				85x6=
90x5=				102x5=

140x6=				49x9=
120x7=				63x7=

520x2=				76x5=
260x4=				190x2=

205x3=				240x6=
123x5=				720x2=

Atsakymų lapas: 
250x3= 750				430x4=1720
375x2=750				860x2=1720

320x4=1280				358x5=1790	
640x2=1280				895x2=1790

150x3=450				85x6=510
90x5=450				102x5=510

140x6=840				49x9=441
120x7=840				63x7=441

520x2=1040				76x5=380
260x4=1040				190x2=380

205x3=615				240x6=1440
[bookmark: _GoBack]123x5=615				720x2=1440	

Nuoroda į įsivertinimo lapą: „Žingsnių žemėlapis“
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